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Problem 1

Context

A rectangle has length 2 units greater than its width. If the area of the rectangle is 15 square units, what are the two dimensions?
Table

	x
	0
	2
	4
	6
	8
	

	y
	15
	3
	-1
	3
	15
	


Equation
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Problem 2
Context

Which number, when subtracted by 2 and squared, equals zero?
Table

	x
	-2
	0
	2
	4
	6

	y
	16
	4
	0
	4
	16


Equation
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Problem 3
Context

Which two numbers have a sum of −6 and a product of 8?
Table

	x
	-6
	-5
	-4
	-3
	-2
	-1

	y
	8
	3
	0
	-1
	0
	3


Equation
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Problem 4
Context

Last year, All That and Jazz Dance Studio charged $20 to participate in a ballet class.  Seventy people attended the classes.  The studio wants to increase the class price for this year.  They expect to lose one participant for each $1 increase in the price.  Find an equation to model the situation, then graph.  

Table (sample – this is not the only possible table)
	Session price
	$20
	$21
	$22
	$23
	$24
	$25

	# of persons attending
	70
	69
	68
	67
	66
	65

	Total income
	$1400
	$1449
	$1496
	$1541
	$1584
	$1625


Equation
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